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Study Guide: Chapters 8 and 9

Energy, Photosynthesis and Cellular Respiration

1.  Organisms, such as plants, that make their own food are called _____________________.

2.
Organisms that cannot make their own food and must obtain energy from the foods they eat are called __________________.


3.
List some examples of autotrophs:


4.
Label the ATP molecule below
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5.  Look at the figure above.  All of the following are parts of an ADP molecule EXCEPT _______

6.
In the figure above, between which parts of the molecule must the bonds be broken to form an ADP molecule?

Photosynthesis

7.
Jan van Helmont concluded that plants gain most of their mass from ______________.

8.
Which 2 scientists showed that plants need light to grow? _________________

9.
Ingenhousz showed that plants produce oxygen bubbles when exposed to _________________

10.
In the overall equation for photosynthesis, six molecules of carbon dioxide result in six molecules of __________.


11.
Plants gather the sun’s energy with light-absorbing molecules called _____________________.

12.
Plants take in the sun’s energy by absorbing ______________________.


13.
Most plants appear green because chlorophyll ___________________

_________________________________________
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  14.  Label and identify figure above


15.
What are the products of the light-dependent reactions in photosynthesis?


16.
The Calvin cycle is another name for the ______________ ________________ reactions

17.
Name the products of the Calvin cycle __________, ___________, ______________


18.
If carbon dioxide were completely removed from a plant’s environment, what would you expect to happen to the plant’s production of sugar?

  19. Fill in the diagram below.  Identify the structure in the diagram.  What process is illustrated?
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20.
What are the products of the light-dependent reactions in the diagram above?
 21.
  What are the products of the Calvin cycle shown in the diagram above?

22.
Name 3 factors that affect the rate of photosynthesis



a.



b.



c.
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23.
Which of the graphs above represents the effect of temperature on the rate of photosynthesis? A, B, C, or D?  ___

24.
Which of the graphs above represents the effect of light intensity on the rate of photosynthesis?  A, B, C, or D? ___

Cellular Respiration

25.
Name the correct sequence of events (processes) in cellular respiration.



____________________ ( _____________________ (____________________

26.
What is released during cellular respiration?


27.
Cellular respiration uses one molecule of glucose to produce _________ ATP


28.
What is the correct equation for cellular respiration? Underline the reactants in the equation for cellular respiration once.  Underline the is a products of cellular respiration twice


29.
Cellular respiration releases energy by breaking down _______________ molecules

 30.
The starting molecule for glycolysis is _________________ (hint:  see #29)

31.
The two main types of fermentation are called


a.


b.


32.
One cause of muscle soreness is


33.
Which process is used to produce beer and wine?


34.
In the presence of oxygen, glycolysis is followed by the _______ ________________


35.
Cellular respiration is called an aerobic process because it requires ________________


36.
How are cellular respiration and photosynthesis almost opposite processes? In other words, the products of photosynthesis are the reactants of __________ ____________________


37.
Photosynthesis is to chloroplasts as cellular respiration is to __________________________

38. Unlike photosynthesis, cellular respiration occurs in what kind of organisms?



  39.
What process is shown in the diagram above?

40.
What structure is shown in the diagram above?

41.
What product of glycolysis in the diagram above?

42.
What are the products of the Electron Transport Chain shown in the diagram above?
A = 
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For questions 39-42, refer to the diagram above
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